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do
—iwd + Yyl + — =0 3.1.2
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- Qan—l(y)a

0000, Gy, O, ¢ 0000,

Yy =e 2V H,(y)000,00000000n>1,n=0n=-100000000

goog
n>1000
Oni 75(%211 - kZ)l/fn
N _ 1
'lfnl = _?(wnl + k)wn—kl + n(—wnl + k)@bn_l . (343)
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u; j,v:,5,¢;; 1000000000000 0O0O0O0O0OOOOOO.

K& 2mikx; mly; \ .
Ui,j = Z ZGXP - cos| — |k, (4.4.1)
k=—K 1=0 m m
K L .
2mikz; | . ly; \ .
Vi = Z Zexp 7;2 £ s1n<7r y]>vk,l, (4.4.2)
k=—K 1=1 m m
K L .
2mikx; wly; \ »
Gij= Y Y exp " : cos( yj)(bk,l. (4.4.3)
k=K 1=0 m Ym
0000000 449,64, 00000000000000000000000.
I-1J-1 .
1 2mikx; ly;
Up = exp| — L Cos ™Y Ui, (4.4.4)
ImYm 25520 Tm Ym
I-1J-1 .
1 2rikx; ly,
Okl = exp | =2 ) sin [ 22 oy, (4.4.5)
) "7
I-1J-1 .
~ 1 2mikx; ly,
O = exp| — TORT ) cos | T2V Gi - (4.4.6)
ImYm 75720 Tm Ym

2mik \ -
- < P (4.4.7)

ml
b 7 4.4.8
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4.5 0O0O0OO

gogda,bbbbobobbbbbob,guoooooobbbbbobbbbbbbood
0000.0000,At00000D00,00 7At0000 a4, 000 ag’lDDDDD

ogd.

gooboogdoboobdooobooboobooobooobog.

~T+1 A T
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~T4+1 A T
O = tp, + AtA],

il 2
ler = ¢r, + AtLA}.
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1 S 2mikx; mly;
e S (2 o (1),
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ImYm i=0 j
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(4.5.2)
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Gill(1980), Heckley and Gill(1984) 0000000000000 000000000
000000.000000000000.

Q) = { S—W cos(ax) EI;:{ iﬁg (4.6.1)

000,e=5;000,A0000000000000.000 A=2000000.0
oooooo z, =400y, =10000. 00000 u=v=¢=0000. 0000
[,J000 16,32, 0000 K,LOOOO 16e0D0000.t=000¢t=2000000
Oo000.046.1000 QO0O0O0O0O0O.
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0461 O00O0OO0OO
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4.7.2 00O0O0O0OO

goooboboobobooddooooooobooooobo,b0bbbbbbodooooaan
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OooobdobdOrn=10000000000000D00OO,0000D00D00DODOO
0000. 00000000000 (3.2.13)00

w_1 = k (471)
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000,n=1000000000000 (3.23)00

k 1

k21373

Wiz ~

(4.7.2)

oob.0oboobbo,n=10000000000000O0000OO0OO %DDDDDD
gogoobog,goboboogd %DDDDDDDDDDDDDD.
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[ I |
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0 4.7.2 t=80
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